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Method for the length of the arc of the form to make ends meet. Arc, arrow, and string.
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32cm X V34 = 9434 V34 = 5.86965

\1 (182 + 9v34) = 19.41(cm)

CCTV34IE B 1230.3cnD D5 D330.3¢m. 15.150m,

sM47.595cmE 734,
CDIMZ2ZFENBAN5%30.3cmD2FEE5[<
(47.595% — 30.32) = 15.152 = /34
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SR \\/ » The way to find the length of the arc, the arrow and the arc of which I
5Q='E‘3R consist during a chord
Tell the method to know a part of an arc’s form is made up of among Exercise
an arc, an arrow and a bowstring .For example, if we try to find out an About 18 cm of arched arc of about 3 cm of arrow is asked.
arc of a bow which a bowstring is six sun,an arrow is one sun(about 32 mxV3Ad=9vV34(W34=5. 86965)
3cm),we should do a square of one sun arrow,and do multiplication of
586965. Others, do a square of a bowstring which is six sun ,and plus \/( 182493 4)=19. 4 1(cm)

each of these to find out a square root. Then we can find an arrow
which is six sun four bun seven ri. For the origin, half of the circle with
a diameter is one shaku ,the arrow is five sun,and the arc is one sun
five shaku senven minutes eight unit. Raise this arc to the second
power minus square of the inside arc which is one shaku. : :
The square of arrow which is five sun divided by what is left behind V34 will be 30.3 cm of bowstring, 15.15 cm of arrow

(the answer of the question)is 586965056. and 47.595 cm of arc which 1s 1/2 of a diameter of this

Cut off these two columns of numerical bottoms and use it as a 30.3cm.
decided multiplier. . : :
This result does not match an outside bow shape. However, | play to A square of 30'3 cm inside of bowstring is pulled out
the gods and Buddha and use the answer to this cited in the world of a square of this arc.

even though it is slightly different.

That doesn’t match an arch in prescriptive outside, so when 2 arches

of 7 suns of arrow and 6 suns of handle are put together temporarily , 5 5 5

it stats to be a |leaf.. | find out that | don’t have the right answer more ( B ) L _

than this. It’s so, but this calculation is also better than nothing. 47. 090 5 0. 3 - 1o. 10 V34
This way is told orally.
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S DEE We felt, our knowledge was insufficient,

) o ) o ) ) Because old math is a little different from now. ~Sanpofutsutankai~
£o&ER0EZEDIF TR A—XICEREBDKRIICUL NV ZIFRLEA | thank for the school side Old mathematics : e
SRINCRDIEVTT to provide an opportunity for it. RE 2 .

We have to study about computer in which | lack . ~murase yoshimasu®™
knowledge. WIE =& group leader Yoshihara 16734 IEE Tk




